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General Instructions :

. The question paper consists ol 2 sections - Seciion A (having 21 (uestions) and
Section B (having 09 questions). You are to altempt both (he seetions.

2. All questions are compulsory.

3. There is no overall choice. However, internal choices have been provided in 3 questions
of 5 marks category and 3 questions of 2 marks category,

1. All questions of Section A and all questions of Seetion B are (o he attempled separately.

9. Questions 1 to 5 in Section A, and Questions 22 and 23 in Seetion 13, are tltiple
choice type questions and carry one mark each.

6. Questions 6 (o 11 in Section A, and Questions 24 and 25 in Seetion 13, are short
answer ype questions and carry 2 marks each.

7. Questions 12 1o 17 in Section A, and Questions 26 (0 28 in Section 13, are also shor
answer type questions and carry 3 marks each,

8. Questions 18 to 21 in Section A, and Questions 29 and 30 in Section B, are long
answer type questions and carry 5 marks each.
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Section - 'A' (@Ws- ‘%)

1. The small circular aperture present in the centre of iris is known as the :

{a) comnea (b) retina
()  pupil (d) cone
aneRa = g fum SR’ IR BR w1 AW
(a) R () W=
(c) HaeR (d) &=
Arar 21

2. The synthelic libre that appears Lo resemble wool is
(a) PET (b) acrylon
(c) Rayon (d) nylon
FA % g fem 9@ Heefie @ @ A
(a) Te (b)  Ufhaii
(¢) ¥am (d) =wEer=

3. A prominent constellation looking like a distorted form of the letter W ar
M. is the:
(a) Cassiopeia (b} Big dipper
(¢)  Orion (d) Ursa minor
UE AREvEd T R fage wosraar M o e g @
{a) wfafaa (h) famr fege
(c) siiftas (d) # AR
HHEA 7

4. Anexample of a plastic which cannot be remoulded again by simple heating

::i polyethene (b) DVC

(c) polysiyrene (d) bakelile
va wfeed ol o S 49 =8 foran o @ 9w -
(a) T (h)

(c) ieiFeTEa= (d) derEe B
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5. An icy celestial body that appears again and again alter regular intervals,

is the

(a) Ceres (b) Phobos

(c) Halley's cornet (d) Sirius

A @A 4 5 Fftes woew @ 9w g g et @ 9
(a) HE (b) wEE

() FelE-wEE (@) HdsE

2l

6. Define the terms
(a) relative refractive index
(bh) absolute refractive index

in terms of ‘speed ol light’,

(a) qeMToTE ATAEA R T
(b) arafds sgav= fes =
gt 1 Al & wemw F qfwi =X

OR (3r@r)

Complete the ray diagram showing ~a Incident ray
the path of rays in the ray diagram |

given here.

faw v Warfem % smafaa farmor & 0w = ' |
o ﬂﬂ%ﬁﬁlﬁi glam slab '

Alternative Question for Visually Challenged Students
gftesiy aret faenfdat & fog defoas ww=
Write any two characteristics ol the emergent ray when a light ray passes

through a glass slab.

e g &1 faewr, o s @S A A qEliE B 2, O "y o o o
ferstoend e 27

7. Name a natural effect based on dispersion ol sun light. State ,in brief, the
reason for its occurence.

ol ot ey faon & aftehqur & s B Al g wighfen wichar = Am fErd wg
H Td uftear =1 RO "G0)
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8.

9.

10.

Differentiate between tactual and auditory aids for visually challenged
persons, Give one example of each.

afte 2t w9 ¥ awifde =afdel & fow e aur s wemeE ol ¥ R
AT | T o U - Uah IS0 2
Look at the given ligure carelully. -5.,\ e
In which ecase/s would we hear the / f/ "j\ \‘\
sound of the bell when the two

bell jars are shaken.
Justily your choice/s.

: "‘1—" '\.PI —yr

fow e fora Y o A ¥ qw A om0 | — [—
W A R A e A e e H‘::_:)‘ 3
feafey /Rafedl % 28 it eafy g 2 CaseA: Ca_seB_ﬁlh
S SV AR P (:r:rfgfﬂr:; ) {r:;: & fim a;ﬁ]
Alternative Question for Visually Challenged Students

ey a Rl @ forg dafus w5

Take two bell jars, labeled A & B, having rubber corks fitted in their necks.
Drill a small hole centrally through the rubber cork. Suspend a small bell
inside both the jars, Now evacuate bell jar ‘B’ with the help of a vacuum
pump. In which case/s would we hear the sound of the bell when the (wo
jars are shaken. Justify vour choice/s,

A AFAR I AR A F B A UF TR GTel T o I U - O e e
8 TR #1 AR T A ¥ WA w7 5 e @ e e oo e
AR R 7 feemdar A v form fafs /Rafiml I w& o el wd i s I
& T A

State lwo conditions necessary for producing or sustaining combustion of

a combustible substance.

U A GaTd W W /el @, 39 e stavas @ awqy /fataat aend)

OR (3rear)

Differentiate between spontaneous and explosive combustion.

wd: 38 U4 faenes 2 W o e 27
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11. 'Rayon is nol truly an artificial fibre.” Justily.
i At ¥ FEw wn aE #) sl w5

12. Radha’s grandmother often complained of hazy vision.
(i) Name the eye defect she may be suffering from?
(i) What may be the possible reason behind this defect?
(ili) Stale any one possible way that could improve her vision.

a Fi A A A e e w2

(i) 3% = @ e fawfa & wadt 27

(ii) mﬁ?ﬁﬁmmﬂﬁm??

(1it) = ver adem aan fored 39 gfte 3 gur & @ #)

13. (i) What is the effect on the ;
(@) loudness of a sound il the amplitude of a vibrating body is
doubled?
(b)  pitch of a sound when the frequency of the vibrating body is
doubled?
(ii) The frequency ol a sound is 1.5 kl1z. Is it audible? State the reason in
support of your answer,

(i) (a) =fe e =1 s A o Sg & 399 vasar W oFar R R
(b) afe wafr & sgfa = A e @ & 38@ awe o @ sww 2 ?
(i) eafy ot s3mafe 1.5 kHz #1 @1 9% @ s #7 Fwon g6
14. (i) Why are geostationary saltellites called so?

(i) What is the time period of their revolution around the earth?
(iii) Mention any one of their practical applications.

(1) ‘s1-feudm’ Iwaret =61 S = o fEar B 7
(i) et 1 U 99 90 A 9 TR e o A 7
(iii) 7 ITARN T FE T IHEAT FAAC|

15. (i) Write any two ill effects of incomplele combustion,
(ii) Whal special precaution should be taken at LPG godowns or petrol

pumps?
(1) 3l 28 & H1E 2 TGRS T A9
(1) & = Terl sraar Yo W A qeen B a9 aEaE o @ fEe 7
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16. Look carefully at the given figure and

answer the following questions. Impure Water
(i)  What name is given to the (e 9wt
technique shown in the figure?
(ii) Label the paris a, b, and c. aandb
(iii) What do you undersiand by
potable water? .
faw m form ) eamgdes 2@ sk FefelRaa
I & IR T Potable Water
. e T
(i) e we 9@ =0 am ) 'iuarr-r )

(i) T 31, 7 3 @ & am o
(iif) ‘Y w7’ | @ g 27

Alternative Question for Visually Challenged Students

gt awt fanféiel & fog dsfoas wo=

(i)  What is the purpose ol adding chlorine in the water treatment plant?
(ii) Suggest any lwo ways of conserving water.

(i) == =0 o X et S o R 7

(i) wFt F = 3 9 IUE g4

17. (i)}  How does domestic sewage affect aquatic animals?
(ii)  What is the purpose of purification of water? (two points)

(i) R & Fees aven seprafta afea w1, oo SE R @ SR s R 7
(11) ot = =aos w4t e wer 27 (3 Fww aEn)

18. (i)  How is the virlual image, formed by a convex lens, diflerent from that
formed by a concave lens?
(ii) Complete the given ray diagram.
(lii) Mention any iwo practical

devices that make use of =

convex lenses. e | e - !
(i) Iede ofF vd ygad o9 g g 2F F F 2F

AR ufafEa & s 27

(i) fev g fmor sme =) oo )
(iii) IEel ofF I H A A 8 I # A )
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19.

Alternative Question for Visually Challenged Students in lieu of 18(ii)
gftediy arer faenfiiell & forg 18 (i1) & M W d@foas wos

State three characteristics of the image formed by a convex lens when an
object is placed between its F and 2F points.

U g Jeael o & F 3R 2F fargat @ A w81 9w aw e ufafe @
= fasan &)
(i) Enlist any three measures timt can help to limit noise pollution.

(i) We hear the thunder a little after we see the [lash of lightning .Why?
(iii) What is sign language? For whom is it useful?

(i) Al ggwor = @ffe @ @ @9 39 TR
(1t) =9 @Es e F HET, ﬁmﬁlm&ﬁﬁ%mgﬂﬁ%ﬁl%la@r?
(iil) ‘Fore oo’ =/ 27w fme forg awahd 2

OR (3rar)

(i) Label the parts
a, b, and ¢ in the following
diagram of the human ear.

(ii) State the functions of
each of these three parts.

(iii) Name the three bones present
in the middle ear.

(iv)] What does persistence of hearing of a normal human ear imply?

fow v R e ¥ 3

(i) a, b 3R ¢ ¥R & A/ "0

(i) a, b 3R ¢ & T TEW|

(iii) 7w &t ¥ feuw @7 sReal @ ™ ford)

(iv) =i e wvie (W= site feaftn) &1 ord @ 27

Alternative Question for Visually Challenged Students in licu of 19 (i)
gftediy T Aol @ frg 19(1) & wom W d@foas ww=

Name the three parts of a human ear and state their functions.

AT F 3 9 W # A Bl ve e e ||
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20.

2].

() With the help of an activity explain that non-luminous zone is the
hottest part of a flame.

(ii) Calorific value of wood is 18000kdJ /kg. How much wood is required to
produce heat energy of 144,000kJ?

(iii) Why are gaseous fuels considered the best? (Give any two reasons)

(1) wa T g aweng 6 waren &1 sréea o wed st am aren #an 2

(1) = & o FOIE T 18000k /kg | et st Femd =ifek 144,000k
A9 IA IJeaA B 7

(ii1) T oY Y g8 It @A wE o 27 (F 2 Fwer o)

Alternative Question for Visually Challenged Students in lieu of 20 (i)
gftedia at famfeia & fo 20 (i) & wom W dwfoas ww=

Why is the non-luminous zone of lame the hottest?

e F afEe e el = B 27

(i) "Excessive use of plastic is a threat to the environment.” Conunent,
() Write full form ol PET.
(iii) How are synthetic fibres better than natural fibres? (Give two reasons)

(i) “wofece @1 it swe aia & fog siffemre #17 feomit &)
(i) T =1 gm0 3 @ 27
(iii) Ff B, wglies @ & fFa o@ w237 (A @ Fww o)

OR (312@r)

(i} State any three characteristics of synthetic plastics.
(ii) Dilferentiate between biodegradable and non-biodegradable wasies,

Give one example ol each.
(i) wweifte wnftes @it @ e aa])
(i) w9 Feiwoia qar e sl § s 27 udE @ U -

FeE 2
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Section - 'B' (@e-9')

22. The crop. which is sown during rainy season, is:

(a) wheat (h) mustard
(c)  maize (d) linseed
a8 o, fod ant =g & @ e 2,
(a) (b) @&
(c) e () feeire
21

23. Hydra reproduces by:
(a) budding (b)  multiple fission
() binary lission (d) laying eggs
BrgEr o1 v faf e # -
(a) A (b) <EE
()o@t (d) 37K BRI

24. How is transplantation advantageous?
o 9 wee dtemmen ¥ Ime s # e 3 el g @ A Afte fan a2
= WishaT 1w e 87

25. (a) What is lodging?
(b) Why is it advisable to minimize the use of fertilizers?

(a) 'wifern’ ford @ea 27
(b) I =1 TEHA FH Y FH KA AMEYI F 7

OR (3ran)

(a) Name the agricultural implement
shown in the figure.

(b) For which agricultural practice is ye
this implement used?

[c) How is large scale storage ol grains done?

(a) fov o fom ¥ e 7 SAeR &1 99 7@
(b) 9 @R @1 yanT Fel faar i @ 7
(c) &2 T G I FY WAV FA fEan waw 27
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Alternative Question for Visually Challenged Students in lieu of 25 (a) & (b)
gfeediy are ol & g 25(a) v (b) & T w dwfoas yo=t

(a) Which agricultural implement can do harvesting and threshing
simultaneously?

(b)  Name the process used to separate chall from grain.
(a) =8 =7 & wdir @ A werd sk A A @y -y @ wEdr 2
(b) Tt & = F fowe | e T F T FOwd Fwd

26. Name and explain the process by which new varieties ol crops are developed?

AT & s T Ier A g Bl = 9w mee awr 9er avle #if

27. (a) What are hermaphrodites ? Give one example
(b) In which parts of the female reproductive system does:
(i)  production of eggs takes place
(ii) fusion ol eggs wilh sperms takes place.
()  What are the lunctions of the harmones produced by the ovaries?

(a) TomwEEe fRd wed #7 v Jemon 3
(b) fora e = #a H
(1) 3= Ieg=1 i
(i) SpIo] 3R SEI] 1 HAGT BT R 7
(¢) ez g w=nfad swiAl o Fa o 27
28. la) The lollowing diagram shows the lerlilization of an egg cell by a sperm
cell. What is the possibility of sex ol the child in case A and ecase B3

(b) Is mother responsible for determining the sex of the child ? Give

reasornn,

(a) fov g faa =) Saar 9o f& gafa o oo Bafd (sn) oF Rafa (=) % =
BRT?

(b) = = A wafy & fom =1 Fufor w5 27 @ 5w 59w

;:::__J)()i() S Q(}E) Case B
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Alternative Question for Visually Challenged Students in lieu of 28 (i)
gfteaiy are faenfiial & forg 28 (1) & = = dwfeas gs=

Name the two types of chromosomes present in the nuclei of human cell
e ) A ® B A e ) R B QR B A A
29. (a) Differentiate between oviparous and viviparous animals. Give one
example of each.
(b How are egg shells lormed?
(¢)  Draw a neat labelled diagram of a human sperm cell.
(a) RS WA UE IEgwren S A Fun frra # 7 yees @ ua - U Jaman 9
(b) 3 & formd 39 o #7
(¢) =2 sy o aftie et = )

Alternative Question for Visually Challenged Students in lieu of 29 (c)
gfteam ard faanf¥ial & forg 29 (c) & s W dAsfoas v
Name the human reproductive cell and its parts,

IR q41 A AN & AR T

30. (o) Why do some tadpoles lail to grow inlo adult lrogs?

(b}  Name the gland that secretes:
(1) growth hormone
(i)  thyroxin
(iii)  insulin

(c) How is diabetes caused?

(d) Where is adrenal gland located? Write two functions of the hormone
secreled by the adrenal gland,

(a) Wew &1 T TF TN - FN 22N A 3 76 9 W @

(b) 37 saend ufeay & am ford e & Feafafeas e w=nfag 29 7
(i) e Bwie (i) arafEaT
(1) =g

(¢) wtrdE d A 27

(d) wdFe wd Fel feam 27 go@ w=fas #mE 57 B A 2 R 9
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OR (3reyar)

(a) Name any two minerals and any two vitamins that are needed to
build strong and healthy bones,

(b) How is physical exercise beneficial?

(c) What circumstances may provoke an adolescent towards taking drugs?

(Discuss any two)
(a) wRed B o a9 @ Frg e 2 @R T A R @ s A
(b) it =mam = T a2 7
(c) oy aRfeaferdl ¥ fapaieraeen ¥ =@ @t o o @l 27 (08 2 =7 b oY)
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